
SAP ABAP table V_OIJNOMHI {Generated Table for View}

V_OIJNOMHI

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

NOMNR [CHAR (20)]

NOMIT [NUMC (10)]

NOMST [CHAR (1)]

NMWERK [CHAR (4)]

NMLGORT [CHAR (4)]

VKTRA [CHAR (2)]

CONLUOM [UNIT (3)]

SITYP [CHAR (2)]

LOCID [CHAR (10)]

LOCPT [CHAR (4)]

LOCSL [CHAR (4)]

S_MATNR_I [CHAR (18)]

ACTUALUOM [UNIT (3)]

ISTAT [CHAR (1)]

UNIT_I  [UNIT (3)]

ITTOLUNIT [UNIT (3)]

NMVEHICLE [CHAR (10)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 V_OIJNOMHI-S_MATNR_I = MARA-MATNR 
0..N

1

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 V_OIJNOMHI-NMVEHICLE = OIGV-VEHICLE 
0..N

1

OIJLOC

MANDT [CLNT (3)]

LOCID [CHAR (10)]

 V_OIJNOMHI-LOCID = OIJLOC-LOCID 
0..N

1

OIJSTAT

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

STATUS [CHAR (1)]

 V_OIJNOMHI-ISTAT = OIJSTAT-STATUS 

0..N

1

 V_OIJNOMHI-NOMST = OIJSTAT-STATUS 0..N

0..N

T000

MANDT [CLNT (3)]
 V_OIJNOMHI-MANDT = T000-MANDT 

0..N

0..N
T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 V_OIJNOMHI-LOCSL = T001L-LGORT 

0..N1  V_OIJNOMHI-NMLGORT = T001L-LGORT 
0..N1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 V_OIJNOMHI-LOCPT = T001W-WERKS 

0..N

1

 V_OIJNOMHI-NMWERK = T001W-WERKS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 V_OIJNOMHI-ACTUALUOM = T006-MSEHI 

0..N

1

 V_OIJNOMHI-CONLUOM = T006-MSEHI 

0..N

1

 V_OIJNOMHI-ITTOLUNIT = T006-MSEHI 
0..N

1

 V_OIJNOMHI-UNIT_I = T006-MSEHI 0..N
1

TOIJ_EL_SITYPES

CLIENT [CLNT (3)]

SITYP [CHAR (2)]

 V_OIJNOMHI-SITYP = TOIJ_EL_SITYPES-SITYP 

0..N

0..N

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 V_OIJNOMHI-VKTRA = TVTR-VKTRA 

0..N

1


